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Â �
� 4�9�
P3��� 4 [6P/< 4Q6�B/���3��������
�=6
0[�W�
� ���P�3A
��1 4��@ �/946
�<��]�� 49
�_6	
�>
�
�<B�U 4�8��
\�P]�7	
���
/	��>�1>�̀
�/
��a
��
\�P]�7	
���
/	��>�1
����A>�0�
\�b��A�A�
cB @�0.
 4
��_6�

��
�
7>>�9d�	
�P
B3A6 4��
��< 4��.�	�
��A3�
��
�
����������	�
��
������������	���	�������
���

	A�	����6�

�
�6� ���L�=�0P=�1A2�A
�Ae� 9�
�/361A2�A
�Ae9��	f[�
 49��P3��UB9� @�/
�/3A<�9�

2�/�6fQ�^�_69�
	A�	�7�=1�P
 4Q/�� 4/64Q6�^�9
=�6_��
��/P���� 4�	A�	����
��A��=�2��6�b��
71�2�
 4>� @6K> 4>��̀^
 4>K> 4>1=����L� @
0[� 3 4�b�]�3.93 46� ��>�/9
�
?9� �����	
�6� ��
6P
�g��hTRiZ�
$""jd��kkk�k&"l,&l&m!*�l!"�
�
	A�	�
0[������





��������	
�

����������������	
����
��������	
�	�
�� ������������ �	����
���������� ����������� �����	�!������"#$%�&�$������'(�)�(����
�"$���
*+��'$'���$�, �,-(�����	�����$. /��'������0�!���"$

%����������-��
�)��"$��**�#����$/�/��1�2��"�������
����"-�%�� ����3 �4�!�����5!�

)������ ����������� ���������"�6��%���$�1�2��+��'$/-% 
��%��"$��� ���� ����'0�'2� �"-��	�2 ��'� �������� ����)�2��3 �+������
4�!���	�����$. /��#��,72�0�!�'���$�-��(���$'� �����	�� �
%�
7-
����)�2��������8���3���3 ��7��"-���3����
%���9-���� �

#���9.�'����������� �����	�!���� ��"#$%�&�$�'����)�):-
(����1�2'8������ ��'� ��'��.� %� )��2���-���� �$1�-�$�%���3���
�)�
�#2 ��#3��� ��)���
 ����'8�����9*�	����-����
�
%�����
*�9�"'��
����0�!�����8�
�*�� ���2 % �8 ��)����������;����$. /���9#��-
��$/�/���"$#���9.�'����������� ���������"�6��%���$�'����
�8 ��)���� ���7"/-% �8���
����)�2����8���3���3 ��"-��������.� ���7�<��

1�2'���%-���,72 ���'(��"� :- � �-%�)�������	
�	���������� �
�, �	�-��	�����������3 �(���'����-*��
�
���"$��(9/�,72��)�):-
(���'��%1��#��9�"��
 �'���-%�����8��	3*�� �������5'(
=,")�2'9�'-��
	�2 ��'� ��*��
�
������
*�2% ��9�	
(	�/� ��"$)�2�%"	�7/�%�&��
�;�	���2% 	"����-������'���$�"$������>
���
� ��������1��

��������
����������������
� !�"�
%��%
��#�7/��?��
� �����@�



���#�$�
��
 4�8	�6��
1 49�]�7 =̂/	
�	�
�.��6��� i�

1 49�]��4��A6�

�3A64��V� R�
1 49�]��4��A6�

�3A64��h� T�
��/93 @�/n�9 4>3A�P
��^��6fQ�_6� X�

1 49�]�
0[�id� P�̀��6���691�/��oA> 4�A���91�/� W�
1 49�]�
0[�Rd� �0̂ 1 499�
���6��91� iT�
1 49�]�
0[�Td� Uf���̀P 4b
 4Q/��
�71�
B�7>>� iW�
1 49�]�
0[�Xd� ���69

�3�
�9A
A�3�
�3A
A�3�
� RT�
1 49�]�
0[�Sd� ���63A8 4<<3�
� RV�
1 49�]�
0[�Wd� ��=/�A�
8�	� TR�
1 49�]�
0[�hd� ���6.��6�7 =̂/�4bb�� TS�
1 49�]�
0[�Vd� ��6^1 49�64���� XR�
1 49�]�
0[�pd� ��/����^���4�� 4�� XS�
1 49�]�
0[�iZd��<f[�3=��6�����
���
Ag�� @3�9�
q?9q6	 456�� Xh�
1 49�]�
0[�iid����6.��6�7 =̂/9�
.?9��� SR�
1 49�]�
0[�iRd�_^ @P3����̀P4b
 4Q/
 4Q/�4�� 4�8��_671��4�� 4�8��6�9� SW�
1 49�]�
0[�iTd�_^ @�f[6� 43� @3�P3��L�=�
���
� Sp�
1 49�]�
0[�iXd��^�6
�92 ��7�=���6��2������
�92 ��	f[��^�6�7�=��2�	f[����6� WZ�
1 49�]�
0[�iSd���=/�
���<6���2�	f[��31<6� WT�
�
��� WX�
> 46
?9
 @���1=�� WV�



��������	
����
���������

�����	
���� 
��	������ ��� ����	�����	��� ������
����	���  !�  	� �"���
#$��"$�
��	����%	�� ��	&�&'� ���!�
��
��	�

3 4660Q � 
��9�
7��/�

�� �����6�

�9U�^
f���g9U�9�����
L� @9�̀^6�<f[�L3 @3=��r1 49�]�7 =̂/	
�	�
�.��6�s�

P3���
A/� 1 49�]�7 =̂/	
�	�
�.��6�60Q ���6�
f[�/
0[P=�62 @�/��
��� 4b� Pf����6�
f[�/2�/�A[/
0[�
�
B @� 499 46�0��B=71 @3� ��B=n� �
�9���	A��
]�
9463=���A[/
0[�
�
B @� 49�0��B=71 @3�t?[/
B @� 499 46�0��9�
B @� 49� 4Q/7�=�9A�946��60Q ��0
1 49�]����6��=�/L
� �^�f�6��=�/P6
0[P� @6�P�946�0� 
B @� 49� 439 46��=�/
_91 @<A�� 71 @3��B=��3 46^6?[/� 9���U��3=�� P6
0[�
�
B @� 49�06 4Q6� �0
B�
=�/���6
��=�/L
�P1 @��n���=�/64Q6�� 466=������6�
f[�/�

����^1f��9A6�

7�=
060Q � 3 4660Q9�
�
�<���01 49�]�	A�.�� Pf����6�
f[�/2�/
=�6
0[�0
P3��
B @��B=71 @3� �	
��>�93=����69�
�
�<��
�/3A<�9�
� �	
��K�64Q6�
3 4660Q����8�	��	B�_6�<A/3A<�9�
^6=��� P1 @��n� 94>3=���	B�946_6
g�6�cB @
0[�0P3��
B @��B=71 @3�9���
3>
 4�� 4�P3���

����K	���31�9�P=�62 @�/��̀9 4�� �?/��	B�_67>>�A[/1�� 46	 461�
6 @����	
��3=����f[��
�	

]6�U?/1 49�]�2�/�A[/
0[�
�
B @� 49��=�/_���=�/
^6?[/64Q6� 9�������01 49�]�^1����=�/� ��	B�U?/1 49�]�7�=1���=�/L� @9�
P/L�=��9�71�
=�6� 4/L� @>�9L3 @� @3�3=�� ��f[��>��g9U�71 @3�9���_^ @�0
�31���>P�̀U���

����������������������������������������������������������
�� ��g9U��

��]���̀649/�6�/P�9�
	�
�.��6A9� 4�	 46��7 =̂/�19� �	�1���3 46��
A����
0[�
Rp��9
�P��RSTR 



�� ��������	
����
��������

_6�
f[�/60Q����8�	9�2���9��L3 @9=�6� U @��9A�3=��31�L�=	��
A/n�
9������� @�/2��8 4�3=����69�
	B�_^ @u4/q= ����0�3L��1��

� ��������	
��

��
������

	�	B�U?/1 49�]�2�/	
�	�
�.��6�� t?[/� 4/L� @>�9��f[�90Q3=����6
�A[/
0[�
�
B @� 499 46�0��B=71 @3�^
f�L�=3=���
B @� 49�0̂ 
f�L�=�09�����7�=�
�Uf�3=�
�
�
B @� 49�0��B=71 @360Q� 9��0̂ 1 49�

���B=^�3�^6?[/
0[	B�9 463=�� ���61 49�]�
2�/	
�	�
�.��6�� ��B=_6^64/�f��>fQ�/� @67� @7�=�	
#�
�
� 7>>�
0�6
649�

��
0� t?[/��� 6^64/�f��
0�6< 4Q67
92�/	
�
0[�2 @���>3<_6
	
�	�
�.��6��
0[���6	
�639��

^1 49�

�^�3�64Q6� 
=�6�
0�93=�� ���������	
��

��
����

���
���
�
	
�	�
�.��6�64Q6� �0<f[���=�/^6?[/3=�� ������!
�	 �� U @���	B�

9467>>
3>
4�� 9���������^1 4960Q ��	B�� >�93=�� 1 49�]�2�/
	
�	�
�.��6�� 9�Pf�� 1 49�]��4��A6	
��

�3A64�� V� �
�9�
60Q ��/�
U @���=�/60Q��g9U�9��>L� @_6�31��	0�/�R\T�6�
0�
=�64Q6��/�

1 49�]��4��A6�

�3A64�60Q � ���6^1 49�

�
0[	
�	�
��� @���/L� @
�
 4�L3 @79=	
�6�/�^��<�>�0�P��0��0��B=�V��
�9�
� @3�946�
=�6>�9
3=�� ^1 49
0[_< @� 4��A63=�� �

�^
f�P�̀��6� 46_�� ��� 6P�̀��62�/
	
�	�
��� @�^
f�L�=� 9�Pf�_^ @�B3=�� �

�
0[�2��9��� @�/^
f�91=�3^
f�
�
�	:�A�oA> 4�A6 4Q6� ���6L����1 49�]�� V� �
�9�
�=�L�60Q^
f�L�=�
91=�3Pf��



�� ��������	
����
��������

i�����6L��	f[�
������Pf��P3��P1��^���A�����̀636�9=�3=�P1��
9�̀^64���

R�����6L��	f[�
��  �#��� �	f[�P3��P1��� 9�
^1����9P3��
�92 ��
L�=�
�9�>� @3�P3��
�92 ��

T�����6L��	f[�������P3��L�=	�9	B69A�1��
X�����6L��	f[��  ����()��P3��� 496 @���
S�����6L��	f[��  	)�*+,�P3��� 46����
W�����6L��	f[��
��
��P3���/ 4��
h�����6L��	f[�
������ !-��9�

���P3���	0�
�
V�����6L��	f[���-�)��P3���10Q�//=���
U @�L�=���6L����^1 49� V� �
�9�
60Q� 9�Uf�3=�L�=_<=�

�L�=_<=3A6 4��

L�=_<=� 4�U����6�� L�=_<=P�̀��62�/	
�	�
��� @�� 7�=U @����6L����^1 4960Q�
�2 @�9 46L� @9 4>P3��
0[91=�3��� V� �
�9�
� 9����6�

����63A6 4�� ���6P�̀
��62�/	
�	�
��� @��

� ��������	
��

��
������

� 4/�0̂ 1 49�

�P1 @��n�94660Q��09^�3�^6?[/�
0[	
�	�
��� @��
 4�L3 @
79=	
���>�10� t?[/���6	
��U
�cB @_^b=� 
0[L� @
 4>�9�=�/���6���
 4PP��0
P3�����6�1A.
�/	
�3A6 4�� ^
f����6	
�3A6 4��
� 9��
0�9<f[�
�̀6�/
��0�39463=����6� ���������	
��

��
���� 7�=�0� h� �
�9�
� 71�91=�3
P3��
�̀6�/��0�39463=�� �

��^1=�_����6L��	f[�1 49�]��=�L�60Q^
f�L�=�
91=�3Pf��

�



A� ��������	
����
��������

i�����6L��	f[���� 	)	����
��P3��^6=���AQ6�<A/�
R�����6L��	f[�
������9�
P1��P3���?��A��
T�����6L��	f[�	�#���P3��� 4>
�92 ��
X�����6L��	f[�����!��P3���2 @�L��/>
�/ 4>�
S�����6L��	f[��-�..��P3��
B @�A[/�K	���
W�����6L��	f[��  !#����P3���
4�
B @�
h�����6L��	f[�	����	�
U @��2 @�9 4>^1 49�^1=�60Q � 9��
0�93=����6�

����63A6 4�� ���6P�̀��6

2�/	
�	�
��� @��U @�L�=�2 @�9 4>^1 49�^1=�60Q�9�L�=_<=�
U @����^1 49
0[3=���/^�3�60Q����>�9�����
U�>��g9U�P
 4Q/60Q

L� @��=�/
3��
�3�

����� ������ ���
��
��� ����� � ��

��=�/L
9������ 4/�07/=
0[P3
	A��
]��Pf�^1 49
0[3=���
 4Q/��/^�3�
60Q� �����	B�L� @3=����61 49�]�<4Q6_6�^
f����6�6fQ�_62�/	
�	�
�.��6��
��̀^
 4>3A6A�K4�3=����6P�̀��6
0[7
 @�
A/
0[P3
��6�̀L�_< @̂ 
f�L�=� 7�=� 4/�0
1 49�]�<4Q66�9�^
f�1 49�]�
 4 [3n�L��
0[�
�P3
��	B�U?/�09�

U @��������9�P/�^�f�694>3=�� �
��/� 4��90[�394>�
f[�/P6� Pf��
�L�
L� @<AQ6�6fQ���<AQ6^6?[/� ^
f�	>�1f����/���^��� 71 @3��3A6A�K4�3=�� ���6
�6fQ�^64/2�/P6^
f�L�=� ���6
���1f��2�/P6^
f�L�=� �
������6�̀L�
�
3���>3A�P
��^��B�t11 ���B�/P��
�9�>��B��L
�=�/n�71 @39�>�9L� @3=��
���v�� 4660Q ���6�6fQ�^64/2�/P6����6^���1f��2�/P6�^
f�3=�L�=_<=�7�=
���62�/� 4�3 ��f[6�� 4664Q6���69�
3A�P
��^�< 4Q6_61���0��2?Q6L��09�



�� ��������	
����
��������

7�=U @��
�L�=L�U?/2 4Q664Q6�9�����	0�/3=��6�̀P6P6^6?[/���_^ @�f6 =̂�/
��9�
�� 49�A>���
9�L� @� �
0�>94694>� 4�3 ��f[6�<=6< @�/^
f�� @����6� @6� 71 @3
9�	

]6�1 49�]�3=�� P664Q6�=�/��9� @�� �=�/��9< @�/��=�/L
� ^
f��0
1 49�]��K	���43��=�/L
�_6< 4Q660Q�9����09�
>

���L�L� @�09
�� 4>^6?[/��

�������
0�>�
0�>�09��=�/^6?[/� �^�f�694>�B� 43�����6L	
��=�/
^6?[/_6�R� 
�� 4>� Pf�� < 4Q6_6� �B1 49�]�9�
��9:
�Ae2�/��3=�9A6�2 @�L�
71 @3���0��9�
2�/P3����10[�67�1/�9A�2?Q6��71�9 @�3�=�L���=�/64Q6n�
71�< 4Q66�9��B3=�_>�9A[/���9���1f�9��0
B�
=�/�0� 46��=�/L
����6� @6�


0[	B�U?/1 49�]�2�/	
�	�
�.��6�_63 4660Q � �
���	B�946U?/
1 49�]�
 4 [3L��P1 @��n�94>
0[���P6���f6 =̂�/��9�
�� 49�A>���
�71 @3
9�>

���1 49�]�� L�=�2 @�L�U?/�6fQ�_6
0��0�3� ���69�

�̀P3���2 @�_�946
_62 4Q6� @6�


060Q � 1 49�]�2�/	
�	�
�.��6�
0[��/7>>
 4 [3n� L�60Q � 9��0
��9���^1���
�9�
� 	B�946L� @7
>��L�=
B @� 49�>� Pf���7�9��9L�
���6�iZ�2 @��RZ�2 @��9�P/	B�L�L� @�
f[��n� �	
��K�64Q6� �31��0�
=�L
9�
	B�946L�L� @�
=�64Q6��

6�9��964Q6�� 4/
0[L� @>�97�=� @671 @33=��1 49�]�2�/	
�	�
�.��6�
64Q6� ���61 49�]�2�/�A[/
0[Uf�3=��
�
B @9 46�0��B=71 @3� �	
��K�64Q6� �
f[�/
0[
����8�	���92?Q6��	B�9����6�
f[�/�

���� 
0[
=�6
B @��B=71 @3� �
=�9 4>3=�
����
f[�/
0[
B @9 46��B=71 @364 [6��/� ��
>
3694>
=�6�09P
 4Q/^6?[/� 
060Q � ��2�
	B�L����62 @�n�



B� ��������	
����
��������

�������� ����
�%����&�'����
��()#��)������
�

�
1 49�]�
0[� i� 2�/	
�	�
�.��6�� ��f[�	B���=�/
 4 [3n� L�� 9�Pf��

1 49�]�
0[���6���91�/� 1 49�]�60Q	�	B�2?Q6��
�9
=�69�6?9��9� �w�v�
_<=�A�	
�	�
�.��6�64Q6���6�
f[�/
�/���91�/�

� @�/
�̀P3���2 @�_�9469=�63=�� �6�����
�64Q6� 49�0P3���6 @���0�/

0[��L������=/� P3�������=/�0��B=��/��=�/� Pf�� �����=/_6
�/P3��PA�
��=�/^6?[/�71������=/_6
�/9�
�oA> 4�A��=�/^6?[/�

�6����� 49��^ 46L�^�� ����	����������
��
���
� �<=6�� 4�^6?[/P6

 4Q/^1��	�946�	1A��	1A6� 43���� _69�
^�P3����2
�/�6fQ�^64/� _^ @
P3����̀P4b79=9�
>�̀
�/>�̀�
�
=�/9����9� 71�_6��P64Q6P69�L�=�^�6
P3����̀P4b2�/�A�_��1�� t?[/
�/	
�	�
�.��6��
0�93=����6� ��!/
���  $$���	�#���

7�=	���10[�6L��09��P�� 4�^6?[/�P6>�/	399��0P3��
B @�?9�>f[�^6=���

 4/�90��P3����2
�/
=�/9��
�/�6fQ�^64/� 71 @39���0�/L�
�/� @�6�A�_�
��=�/����
0[� >�/
0U?/9 4>

��6
=�/9��� ����1�P3����2
�/
=�/9��
����AQ6�<A/� �	f[����
��>c1��̀�
��_6
�/�A�_�� 71 @39�91�����69�

��	�A�
�/�A�L��09�	3960Q�����U?/9 4>
�̀9�


��6
=�/9���>�̀�	�b

�9
9A
A�����=�/
0[�
0�93=���  ))��$!0�	�#���

�
f[�/60Q �
����^�6� 43��=�/7� @7�=_6� 4/P��4���> 46� Pf�_6��P��0�3
�� 4���0�39�������0P3�������=/
 4Q/��/��=�/60Q � 7�9946��9L����6
P61�2 4Q3�60Q ���69�
��0�/���_6� @�6�oA> 4�A�



C� ��������	
����
��������

	
�	�
�.��6�64Q6Uf�3=�� 9�
��0�/���
 4Q/
�/
=�/9��� �^�679=

=�/9��� >�̀
�/>�̀�
�
=�/9����=�/��0�3� 9�L�=UB9� @�/� 9�
��	�A�
�/
�A�_�� L�=�^�6P3����̀P4b2�/
=�/9���1�����AQ6�<A/� �691�����69�



��6
=�/9��L��9�L�=UB9� @�/�^�f�6946�

	
�	�
�.��6��?/3�/2 @��oA> 4�A� 
0[�
0�93=�!  %1�!��*��
��
7�13=�
�/���91�/�^
f�2 @��oA> 4�A
0[���6���91�/�Pf��P3��	��0�60Q9�
���67/=̂ 6?[/�

�09� @�6^6?[/Pf�� ��
	��������������
�� t?[/P6
 4 [3L�� 49���0
P3���6 @���0�/
0[�����6�<=664Q6��<=6��=�//=��n�9�Pf���
f[�/�������94>��
��
3=���L
�0�
A/� 	39^6?[/����0�/���3=�3 4�U��
=�64Q6�0�
A/� �09	39^6?[/9�
��0�/���3=��A��
=�64Q6�0�
A/��69
�
 4 [/_6�
 4<b���3 46�9L� @�09�
> 4bb4�A
9 463=�����6	393 4�U�6A���94>	39�A�6A���

7�=_6	
�	�
�.��6�64Q6�
����^�63=�� 
=�6L�=L� @> 4bb4�A��=�/64Q6�
Pf�� �A_<=���6�A�6A��� ^
f����63 4�U�6A��� L����
�/7�=��=�/��0�3� 7�=
_6	
�	�
�.��6��0
 4Q/6��71�
B�� t?[/�
0�9
3��2 @�� @3�946���6P�̀��0�3
3=��	�!����


=�6�^�6P3����̀P4b2�/
 4Q/�A��71�
 4Q/3 4�U��
=�63=��0
 4Q/��/��=�/�
7�=�0��=�/�A/��.4��6f[�/���6� 46^6?[/� 46��0�3946�



@� ��������	
����
��������

�09� 43��=�/^6?[/� P6	39^6?[/�0P3���^�63=�� �A[/
 4Q/^1���
0[�/7
 @�
�0� 4���
0[P/��B=�1��L��91�����6
AogA
0[�
0�93=���  �)
�*+���=36�09	39
^6?[/� 9��0P3���^�6��0�/L����
�/�
/2 @��� >�93=���=�/64Q6L�=_<=� 
�9
��=�/2���Bb^��� P6�
��9A������6�	0�/�
�<�������0[� ���71 @39�2��
�BbL��	3960Q9����6�����(

�*+��

>�/	39> 4bb4�A3=�
�9�A[/�0
 4Q/64Q6� �09	39^6?[/3=�L�=�0��L
�0�
A/
�1�� 	39
0[3=��0
 4Q/^��� �
0�93=�� �  ��  )0��
�*+�� 	39
0[3=�L�=�0��L
� 49
��=�/9����6�	 )0��
�*+��60Q ���6� 43��=�/�

P6�
�60Q�0P3���6 @���0�/� 
0[��PA��^�6��0�/���� ^
f�L������=/
_6763P3��PA��90[�394>� 4��

���=�/
0[91=�3��60Q� 7�=	
�	�
�.��6�
��63=��P3���
A/^
f�� 4��

�60Q ��A_<=�����6L����P3���6 @���0�/7 =̂/
P3��	�_�2�/�6����� 
0[��/��L
L����
�/�6 @6���
�/60Q� P3���
A/64Q6
���691�/n�^
f�3=�_^ @UB99�Pf�� @�/��6� @�/	B�_^ @	��09 4>P3���
A/�

�	
��K�64Q6�9�
��6P3���
A/7�=	��0n� _^ @�
/���P3���
A/
64Q6�^
f���6_^ @	��09 4>P3���
A/�9��1�91�����6P�̀��6
0[���691�/�

	
�	�
�.��6���6P3�����691�/_6
�/�oA> 4�A� 
0[�
0�93=�
�� !
����
�����=36_67/=2�/P3���
A/� ^
f�
 4.6��90[�394>� 4��

�
9����691�/�09�^�f�6946�	
�	�
��� @�

/7��/�

����691�/n��
0�93=��
�� "!��

�"�#���^
f���� "!�"�#���



D� ��������	
����
��������

�91/3=�� _6	
�	�
�.��6�60Q� L�=3=���_67/=2�/9�
�oA> 4�A� ^
f�
_67/=2�/P3��PA��90[�394>� 4��

�9��������6���91�/
 4Q/^���Pf��
���6� 4<;A���oA�
���=�/^6?[/�71����6� 4<�;6�

��
.6���=�/^6?[/�

^1 4960Q�����
0�>94>9�
�A/1B9.
� 1B9.

0[�A/L�L�=UB9��@ �� 9���
��B=2 @�/n� 2 @�/�6 @6> @�/� 2 @�/60Q> @�/� Pf�� 46L�=	��0� L�=�
/91�/� �=361B9
0[
�A/�
/94>�����@ �	��064Q6�9����6� 4691�/��?/�
0�93=�����$������91�/
9�Pf�	��0� �
/P3���
A/
0[��_^ @�2 @�U?/���^���� 71��
=�9 46	��09 4>
P3���
A/
0[���6� 4��

��

	
�	�
��� @�64Q6�9=�6�
4�
B @�L� @

/L�.?9��_6��̀649P3��PA��^�6
�90[�394>� 4��

�� 71�
�1�/2 @��oA> 4�A�=�/n� �	f[���_^ @�2 @�U?/���^����
	
��/P�_< @�31�L�_69�

�1�/60Q6�6U?/�W��0�71 @39�L� @�^�63=��
0[�oA> 4�A
9 46��B=6 4Q6� 49��L���0�/�����0�
 4Q/�AQ6�

_6
0[���	
��/P��?/

/P @6	>
�/���91�/2?Q6��� ���6� 4<;A���oA�
��
71�

/7��/^1 49�

�
0[���691�/�Pf���� "!��

�"�#���

� 4<;A���oA�
��L� @79=��

��$%�� &���t?[/���62 @��oA> 4�A91�/n�L�=
�?/�9A6L�� L�=̂ �=�6�9A6L�� L�=��0�/��9L�2 @�/�6 @6� L�=��0�/��9L�2 @�/60Q�
	��0
0[��6�̀L��B=���^���7 =̂/P3���0<03A�
0[�0/���



?E� ��������	
����
��������

�=36� 4<�;6�

��
.6�� 9�L� @79=� ^1 49�

�
0[�
0�93=�� ��
��'
	������xiyz� ^
f��
0�9����3=�� %
������������
 ��	������� t?[/���6
^1 49�

�
0[7��/P3���
A/���691�/n�����^���4�� 4��^
f����691�/��B=
����8�3�2�/� 46� L�=���_�_P
� L�=2?Q69 4>_P
� L�=���6L����P3��
�
�
U6�2�/_P
n� 7�=	��09 4>P3�����6�
A/
0[3=�� �A[/
 4Q/^1��64Q6�A/
��.4�t?[/9 4671�946� ���6L�����^���4�� 4�� �^���4�� 4�
�̀_^ @c1�9A�2?Q6�
c1�����6��=�/L
9����6L�����^���4�� 4�64Q6� �A[/
 4Q/^1���0P3��� 4�	 46��
t?[/9 4671�946� �A_<=��̀
/��B=���1�̀	 4/� 43� 46��/� ��=�/60Q ���6� @6� �
0�93=�
���6^1 49���91�/��

���6� 463=�� ^1 49	
�	�
�.��6�64Q6� ���6���91�/
 4Q/_6
�/�oA> 4�A�
71�_6
�/P3��PA���0� 4<;A���oA�
��71�� 4<�;6�

��
.6���

�09��=�/^6?[/����91�/64Q6��0P3��^���3=��	��064 [6��/��
/94>

0[�
�6A��_< @9 46_6�4���> 463=������(�)�^
f��	�����_6	
�	�
�.��6�
64Q6� 2 @��oA> 4�A�=�/n� � 49���01 49�]���=�/60Q� Pf��0P3��	��0̂ 
f�P3��
����1�


�>>
0[91=�3U?/��f[�90Q� t?[/���62 @��oA> 4�A
 4Q/^��_6	
�	�
�.��6��
�
��
0�93=�!  %1�!��*��
�� 7�13=�� 2 @��oA> 4�A
0[	��0� 9����61 49�]�
0[�0
��1�8�	^
f�����1��=�/^6?[/�7�=���6P3��	��02�/
�>>
 4Q/^���^
f�
P3��	��0_6�/P�
3��

����������������������������������������������������������
z��%�"#)��
�������� %��"3�)�*-���3 ��"##2�#�����'0�'2� �"-��



??� ��������	
����
��������


060Q _69�
�oA> 4�A7� @7�=
0[��� 6
��1���0���109�=��1/���9��0
P3������1^
f���1�8�	60Q��B=�
f[���^�f�6946� �<=6� _69�

0[���2 @�U?/
���^���2�/	
�	�
�.��6�� �
���� @�/�oA> 4�Â 1 49�
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